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For example, if we had the above three categories of Normal,

TOO and DDT, reserved 20% of the overall budget as DDT, and

split the rest into 50% for normal and 30% for TOO proposals, this
would give allocating fractions of fnorm = 0.5, fioo = 0.3 such that

1
alloc

= 0.5 Tyvail [wreqtieq(narm) T wN”i(norm)J T (5)

0.3 Tayail {wreqtieq(too) + wnn ,-(too)}

— 3.3, and T°

alloc

1 . 2
Talloc T 7'8’ Talloc

= 4.3.




Requested Time and Number of Proposals
and Number of Publications

_ . ! . . 1
allm T’l\ ail (‘U"t’ll tqu + WN " N+ ‘Upub ' pub)

Tl

alloc —

= 10.7, T>

alloc —

— 5.8, and T3 = 28Ms.

alloc —



Thoughts?



